HMEFERNR 0 (5154542 A 1 BIRE)

[ 3LA% )
T \ 1 & 5 M (%) 8 EF ¥ =
&k | gk #IERT IR _ XRIEL| 7 . RIS | 7 EE_ 5
(58] (%] (%) (F] (%] (%) 5E)
1 1 dtimE 842, 700 99.6 62. 1 5, 380 96. 8 42.7 156. 6
2 2 K 54, 000 98.5 4.0 592 96. 3 4.7 91.2
3 3 AE K 43,800 100.5 3.2 467 94.5 3.7 93.8
4 4 a2 F 40, 200f 100. 2 3.0 128 95. 2 5.8 55.2
5 5 5 B 32,900 97.9 2.4 379 92.0 3.0 86. 8
6 6 F E 26, 500 95.3 2.0 403 89.0 3.2 65. 8
] ] x B 24,4001 101.7 1.8 275 94. 2 2.2 88.7
8 8 2 A0 19, 600 92.9 1.4 220 89. 1 1.7 89. 1
9 9 = B 17,100 96. 1 1.3 400 93.0 3.2 42. 8
10 | 10 e LU 16, 000 95. 2 1.2 192 92.8 1.5 83.3
¢y 1, 356, 000 98.9/ 100.0| 12,600 94.7( 100.0 107.6
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HMEFERNR 0 (5154542 A 1 BIRE)

[ AR4 ]
. \ 7 & B & (5E) M EF N =
o | g | PERR | CymER] vzy | [dmER]| oz7 | B M
(5E] (%] (%] = (%] (%] FIED)
1 1 JtiEE 566,400| 102.4|  21.1 2,180 97.3 5.6 259. 8
2 | 2 | ERB 357,800/ 105.9| 13.3] 6,350 94.9|  16.5 56. 3
3| 3 | = & 260,200/ 102.2 9.7| 4,700 95. 1 12.2 55. 4
4 | 4 | B K 139,100| 104. 1 52| 2,090 96. 3 5.4 66. 6
51 6 | B & 91,700 104. 1 3.4 2,080 95. 4 5.4 441
6 | 5 | & F 89,000 99.8 3.3 3,440 94. 2 8.9 25. 9
717 | #H K 84,900/ 100.6 3.2 772 96. 6 2.0 110.0
8 | 9 | M #8 81,000/ 103.8 3.0 2 140 98. 6 5.5 37.9
9 | 8 | ® W 80,100/  100. 1 3.0l 2,550 94. 8 6.6 31.4
0| 1| g &E 58,800/ 104.3 2.2 1,090 95. 6 2.8 53.9
£ 2,687,000/ 102.8| 100.0| 38,600 95.5/  100.0 69. 6
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HMEFERNR 0 (5154542 A 1 BIRE)

[ X ]
. \ 7 & B & (5E) M EF X =
&k | gi&E #IERT IR _ XRIEILL | 7 . XRIEILE | 27 EE_ 5
%) (%) | (%) (F) (%) (%) 7 )
1 1 BRE 1, 153, 000 96. 2 12.9 443 98.0 13.1 2602. 7
2 2 B IF 818,200{ 107.1 9.1 295 88. 1 8.8 2773.6
3 3 dtiEE 159,600 104.4 8.5 191 94.1 9.1 3977.0
4 4 5 B 993, 700 98. 2 6.6 172 93.0 9.1 3451. 7
5 5 F E 088,400 101.0 6.6 223 103. 7 6.6 2638. 6
6 6 " F 474,000 96.4 9.3 85 98.8 2.5 9576. 5
1 J/ x W 458,400 109.0 9.1 226 85. 6 6.7 2028. 3
8 8 5 & 356, 300 99.4 4.0 92 86. 7 1.5 6851.9
9 10 AE K 338, 000 99.6 3.8 143 97.9 4.2 2363. 6
10 11 2 A0 308, 700 101.0 3.4 138 97.2 4.1 22317.0
£ 8,956,000( 100.1 100.0 3,370 93.9] 100.0 2657.6
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EHEFRFENX 10 (Sf015%&£2 A1 HR#A)
[ {ROREE )

. s RBEBOITHERNYR |(B3B)HEFHK 1R %Y
oo L e I b o A I e I e
R 9,732|  78.9 1.6 93|  86.1 5.3 111.9
2 | 2| F = 9,690 92.5 7.5 03|  88.3 5.3 106. 5
3 | 3 | BERE 8,281 95.4| 6.4 100/  90.3 5.7 89.0
4 | 4 | B 40 6,346| 83.0 4.9 112|  89.3 6.4 58. 8
5 | 5 | B W 5,868|  89.6 4.6 57| 91.9 3.2 102. 9
6 | 6 | K B 5,480|  83.7 4.3 20  90.7 2.3 140. 5
71| B B 5,474 111.1 4.3 44| 104.9 2.5 127.3
8 | 10 | B B 5,425 108.6 4.2 52| 98.1 3.0 104. 3
0 | 7 | dtimE 5,261|  100.1 4.1 52| 92.9 3.0 101. 2
0] 9 | % & 5,112| 98.8] 4.0 43| 100.0 2.4 121.7

£ 128,579|  93.7| 100.0| 1,760  93.4| 100.0 76. 1
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MEFREAX MO (FHS5F 2R 1 BEA)
[ Jn145— )
. \ 7 & W & (3%E) B F ¥ =
o || || MgiEE] ox7 | [mmEE] ox7 | B R
(FF] (%] (%] (F] (%] (%] (FF]
1 1 BERS 31,285 111.4 22. 1 390 103. 2 18.6 80. 2
2 2 = IF 28,254 102.4 20.0 462 103.6 22.0 61.2
3 3 = F 20, 766 98. 4 14.7 295 105. 4 14.0 10. 4
4 4 T & 6, 905 85. 7 4.9 60 95.2 2.9 115. 1
5 5 JbiEE 5 364 103.6 3.8 8 88.9 0.4 670.5
6 1 AE K 3,969, 103.1 2.8 63 94.0 3.0 63.0
] 8 & &5 3,949 108.6 2.8 62 98. 4 3.0 63. 7
8 6 w5 3,723 87.5 2.6 134 91.8 6.4 21.8
9 10 5 W 3,223 103.6 2.3 11 110.0 0.5 293.0
10 9 £ IF 3,024 97.0 2.1 50 100.0 2.4 60. 5
£ 141,463 101.6{ 100.0 2,100 100.0] 100.0 67.4
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